3%

M 1)sE Leo |7

>

%V‘;‘«%z'é*\q/ Wé/AOG/

em/ . /qarw/f‘/ WﬂVZF/’-‘«*\cJ(/;‘“ <L'/// SZ/>: /
Foe = <G/ >

7 Za RN
[= <¢l¥r> = <se ¥ [Zcn D>

= EE Gk cn SHEa K> =Skf
SHw/F> = < zZath (4] Za b >



(39

ey M= A i ler)

] z‘—tkc_
Shale=ghia Zm I~
/: O (7b = /Q(u) /D /gw) ;4 va
joovzklé/m = Alféoelzbhl"la/% :/42 > - /
o . o 2 - <24)3
A = ?é = é/é
2

%’W o//e:_ «})/4’1"”

du AL

Seomlr>=A” [ /HA//ZM»L>( bzebi?) - @_c)e”“
L/é/?fé,, gzbv(% (ZVL"AlVL) *—i\”(CVJ

Adr’d R <-LAE _j"’<zy~_é,«z>

fL/AB[%z(ZQI./ J@”ﬁ_”“—/o/)
7~ (Z4)v (24)3 L7 .
=7 o= — A xc
Z ( 2L 47/; o[
= _ﬁl’ él — S x ./
Z hn
f/’“<%////(/> = ﬁzé —Axwe = O
AL =
b = »Xh <

) 2 = I
<%//4/%> 57 ék/zc) ﬁKC{zx:Ec) - /m

Z
eV gausruw > =l £V



24 /‘/&/'aw\ Cround SHate
- -2 ’7/171%1) - f%a 2 12 = _1 \
77‘7( (ﬂ o IR-R
T ke
Ey;,e/v = “’7277;@_% ]’/om'/e\f/e;\y\
— 25 bac =7
@/Joﬁ(‘“ %wo = ZZ/Z ‘€ 24 =35 Sels
(77 &’
‘ ~ Z (v Al
1[/,4/‘ % = %c (0;3 ﬁ(v\l‘) - 23 - /V%
7742
H=-4" /IZ—vaZL) —thxe /2 R
+ bac /(2-2) 4 (x2) o ] >
( r, 3 {P%,ij
<% //9’/%> = 2 75 *2(%’?')5“/<<§ﬁ/1‘;/%/\

<t lxB > 2

2(z2-2) bxe < L/EIBD> = 2 (2-2) %«c%—
=zz(22)(-2¢,)
=~ Yz (z2-2) F,



e

- (i) +v,
Woi JS = gmezt (7% 1 00
Trta € (7~ F=/

/f,-—fz} /(r

-heosg) F R smte,

= J rth> — 2z, Cese,

YN
7, = [Q___JP -

R

F”M s neds A v,

F*Vl Zvose,

TR PN
5/%@&!9’ V\-,, 62 A

jaf\flarf/\/

= 277] dvz \/;é
o

el
=27 f Av, rt
o

A

- 27 f JIVL ry
d

z 2
= Z// ! JV;, nY .
» Vv

f/,z7 //

N4V - 20 cos -
//\/:—- 2"} Vz S)’WQO/Q

X
22V (rthR)*

L dx
X 2nr
- T
Arng ) (it b))
e / Jx
\r, (= )t
~22 Y-/
F e q('ﬁ?""x"“’}‘&))
v,y
W
—% VLZVJ
z  nen
VZ_
o2 _22 Ve
v LT/ =
. %[a’m r,e
r

- 227
T






#}/&ZV° et /L/o/céc;/c_ /oo\
AT s v
# #/ \.+

2>2
K =- 4P ,#%C{%+7/_) Hep = dace

T~ %

/<

L HO - A (b, A %(A)B
4 () = ) = 7A

Jra
= 1 s e |42 «v? )3/ £x)

[

-

#t I ry = - = )Pk —2iRass
>
+
[
; 3 _ S R - 2v Rese '
1/%J€V/o\ & R - 2vReeser V.Z. 5, 06 6/6'J¢O/V‘
= P2 Reoso Ay)z 2ydy=2vRsnado

rK

p 3 j // 5//4;94/9:27] ’y//é/y

lv-k) ¢
- g (ﬁ(ﬁ@ya(w/z/d B _l‘f /( 7:4))

——

rK



T-z st A ‘
b fo

i (7
te jﬂ (V'kv‘a 5:2%«///(/‘

- "Ké\
_ e /- , o K _/_/ ,e E
= '3 (?) > S
i > L=>0
1= (AT (14204 T
/A}lz |
2(4+T )
_ L2
TEE - Ree) s g R0
He = A -4 e
’ (5%; Vo~ A (’g /_;/>>(§4(v‘)+%(rz))
— Fy _ S
{ZL A*ﬂ<¢<% %(v) f}/_{\_(ﬁ(w)

CUII S B, - AT ke f<H L | Y
[l



P> a<% (V)/lii /% (r,) > i ve cr—
X = a < %(V()(\L‘/ / ! Vz)> etchans e

/ _2RZ
= oz — #ijﬁ
7 (7%
: _ k.
X = R =~
(1+2) =
£ = ~otuact = - hxc
2

SEIHE> = E, -Z/A/Z(*%E)(ZW#_{J

Hyy = dixe = - 24 F
Z3 R

éf""//éf/cw\ Az 2.9« = /3 42‘

(=



